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Is it so that one hundred and two hundred are written in a Get

Overview

»aRk conceded that the 71577 is like °"9 (that 2195 9K X9 7"avn IR W07), since the
mIwn states 712100 ARV PRI VA RXA, she collects her 721> (for the husband cannot
claim *ny71 [as per *"1]). We cannot say that the 71wn is in a place where 7°2n12 PX
7202, for there is no mention in the v that he [still] owes her the 7213, so why
should he not believed to claim °ny75?! This proves that "1 is correct that *ny7o is
not believed against a 7"2v» (only a 72w will help). m»doin clarifies this proof.

n1voIN asks:
= 172905 NDPI XY 291929 NY2)T N2IND PAMAY DIPNA IDANRT NI 2921 NN

It is astounding! How is it evident that even in a place where they write a 772103,
nevertheless the woman will collect her 72103, even if she does not present her

721n5?!
- %919 137 NYVY 2033 1PANN9) V) TOYWA NXN P PRY DIPNI XD XYt

Perhaps here, in the miwn of 7N21N3 7213 72102 7Y PRI VA ARX7, it is in a place
where they do not write a 7712105, and she collects her 72102 with the ©v3 document,

and we write in the w3, ‘this 9vw came before us, etc.’
=997 NIPIY 3912 9%AN) (3,09 97 mans) AMIN P92 [29] (NX29) 92075

As 27 maintains in 201577 95; so 2R should also establish the 71w in this manner
that it is a 772102 12012 PRW P, etc. —

mooIn offers an alternate suggestion how we can establish the 71wn not like *":*
= 10)N 7Y X22)) N2INI )°aMD PNY 01PN *PI) 9) ON

Or we can also establish the 7107 in a place where they do not write a 773102, and

"

! According to > even 12103 1aM>w 0pn2 the woman collects without presenting her 7213 (even if she admits that
she has it). Thereofre if »aX maintains that "3 is correct he must prove that she can collect her 72102 even 23p»2
7215 amow without presenting her 712103, Our MdON argues that »ax cannot prove this.
2 7">2 writes on the torn v3, ‘we tore this 03, not because there is anything wrong with it (so she can use this v as proof
of her divorcee status and remarry), but rather we tore it so she could not claim her 72102 again -with this v3’.
31X here argues that the husband should be able to claim *ny-s (if we disagree with >"), for there is no counterclaim,
‘why did you not rip up the 03 and write on it, etc.’, because the husband can reply that ‘I did not pay her in 72, so
we could not rip up the v)’. However, what forced 2R to take this position, he could/should have agreed with 27, that
the husband is not believed to claim *ny15, for otherwise he would have made sure (to pay in 7"°2 and) that 7"2 would
tear up the v. See nwn noni. See Thinking it over # 1.
4 Perhaps we (2X) maintain that we do not rip up a 03, since she needs it 72 ¥2101%2, however there is still no proof to
"
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she collects with the witnesses of the w3 -
- 42IY PAMAT SHWON KT NI 119 1) 153 221DINY NoyaT DIVUN 199999 NY V) YaN

However, we do not rip up the v, because she needs the v3, in order to remarry
with it, so it is like a situation where there are no other options, where we write

a receipt. This is true only in a place where 72103 12213 X, so he cannot claim *ny» -
= 792 NN VY NOINY Ty ¥99% XD NN PamoY DIpna HaN

However, in a place where they write a 1713103, the husband should not pay unless

she releases the 1712102 document from her possession to his possession, so she will not

be able to collect again. The reasons he should not pay is -
= 792)W 19255 PPRT DIV IN 1IN 2395 KDY NP 91290 )N NIYY DIVN IN

Either because he should be believed to claim >ny=2 even against a 7"2¥7, not like

>'"1, or because the rule is we do not write a receipt, if the creditor (the wife in this case)
still retains the note of debt (the 7121n3)!

mooIn asks an additional question:
= MIDINY ¥ RY 122D PRY DIPNI PRIVIN )13 NININ 1197 1195 Ty

And furthermore since >2X did not want to prove (that the 7557 is like °") from

the case of an X177 3% 725K in a place where 7212 172012 X -
= $(mInuN HINNND N1 2,1 91 DIV INVIIIVY 15

As I explained previously -
- 1PAM5 PRY DIPNA PRIVIIN 1N IWIIHNI NI TN

So how can he prove (that the 71577 is like °"1) from the case of a PR 32 7RIIA

in a place where 32012 PR (for how is it different than an PXW»37 12 7127R) -
= 9NY99 991D 1IN PRT RV 192 Y2IDIND NIIWAT DIVNI NAIND 1397 IND VIT T)D

5 In a case where the debtor agrees that he owes the money, and for some legitimate reason the creditor cannot present
the document (there are o>7¥ that it was burnt), the rule is that the debtor must pay (even if generally we maintain P&
92w 1°an1d), and in order to protect himself from paying again we do write a 7121w, Here too the woman collects with
the v or VA7 >7Y, and since we cannot return the v3 to the husband (since 77°2 *27018% X1¥2), we have no choice but to
write a 12 for the husband that he paid the 721n3. The husband must pay regardless (unless he has a 7121)!
® mooin is arguing that the mwn may be discussing a 72103 1212 7Xw 03P and the reason he is not believed to claim
"nynD is because in a 72102 172MD PRY 2PH you can never claim *ny7d (for then there will never be a payment to the
woman even if she is owed), so the only option is to write a 121 and that is the only time that he can claim *nyo (if
he shows the 12w); however in a 712112 12M>Ww 2P» he can always claim *ny19 if she does not present the 77210.
7 The husband need not pay the 72102 if he claims >ny7o, or even if the husband admits that he owes the 72103, he can
refuse payment unless she releases the 72103, for 12w 1and 1R (where the 217 qvw [the 721N3] is available).
8 See TIE there (by) footnote # 4. mpoIn there writes that even if we disagree with >", and >y is 12X3, nevertheless
it is understood (by a PRI 12 7129K) that by a 72102 12m2 PRY DP» he cannot claim >nyAo.
% mpo1n is responding to an anticipated difficulty; granted that by an 7R3 17 7122% he is not believed to claim *ny-o,
since there is no option (for it is a 7212 2M> PRY DPR), only to write a 12w. However by a 1RW 17 1 w3, why
should he pay, unless she returns the v3. The fact that she collects even without returning the v proves that he cannot
claim °ny1o without a 72w, which is in accordance with >"-.
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Since the 3 is not a 7713102 (and) on account of her claim ‘that I need the vi to

remarry with it’, it is obvious'’ that the husband is not believed to claim >ny=» -
= 1195 1IN N2IND NIPNI XHT D

Since they did not institute to write a 773102 in that place! However, we cannot derive
from this that in a 72103 an>w o1pnA that he is not believed to claim *ny7» if she does not present
her 72103!

NID0IN answers:
= V) NNY PRI NIIND PINT ZANHPYP PNINN ANIT 990 U

And one can say; that the mw» was troubling to 2R, for it states in the X5°0 of

that 71w, ‘she presented her 573102, but there was no w3 with it’ -
- 135P0Y NN PAMHIY DIPNI NN

It is evident that the 71wn is discussing a 773102 PPanOW 2IPR, therefore the proof from
the mwn is valid —

Mmoo responds to an anticipated difficulty:
- BAnanN 9aya 1Y Aanow Y9N 19V MY X920 PN

For it is illogical to establish the 711wn that it just happened that he wrote a 72102

for her on account of his love for her, rather we must say that the reason there is a 72103

is because it is a 72105 AMW QPN -
- NP9 N1DYY VI P AN PRI NAINT 1Y WIY 1153 7599 TaY

So therefore the question is, since she has a ;72yn> and is not presenting it, she is

only showing the w3, so let the husband claim sn¥=2 (if >ny7o is 1281 even against a 7"2vn).
$92IY 12259 DIV 99N KDY 1HINTI NON

But rather since the mwn rules that she collects her 72103 (even without showing
it), it certainly proves that 2> %8 K> 7"29» 70X 1917 and the only option is
writing a 9212 to protect the husband from paying again.

19 0N responds that since a woman requires the 77°2 >2701%% 3, it is as if she has no 72103 or anything to return to her
husband, therefore it is understood that he cannot claim *n¥19 without a "21w.
' maon (second) question is that just as »ax could not infer from RIW37 172 792X (in a 72103 1AM1 PRY D1PR) that the
79977 is like *"1 (since there is no option, therefore he is not X1 to claim °ny1o), the same issue arises with a 12 7w
PRI (in a 72105 172ND PRY 0pn), and even though seemingly he could have retained the v to prove that he paid,
but that is not an option since she requires the v to remarry with it.
12 mpoin answer is that nwp 1Pn°ann means that he derived from the ¥9°0 of the m1wn which states 7°X1 72103 XX
vl Y, that we are discussing a 72102 1an1DWw 2p», and therefore we can assume that the X2 of 7nY 7RI L3 AR
7213 is also 712105 PandWw 2pn3, therefore we have proof that the 713%7 is like "1 as NdOIN continues. See ‘Thinking
it over # 2.
13 See ‘Thinking it over’ # 3.
14 See ‘Thinking it over’ # 4

3

TosfosInEnglish.com



JOXR 7"7 "0 X, 2" 702

Summary
»aX inferred that the X9 is 7205 Pan>W 0Ipn1 since the X9°0 (of VA 7MY 1KY 721ND)

1s 712102 12w opna. Otherwise we cannot derive that °*nyas is not believed by a
72100 7amow opn, from the fact that *nyo is not believed 72105 1°2M PRY 2pR2.

Thinking it over
1. How could noo1n ask that »ax should learn like 27 (that 77°2 21018 X1°v2),!° when

"X clearly negates that claim (saying 2 X337 °22 2237 92 10X)?!°

2. moon explains that 7°n°wWpR 1PN°ann means that since the X590 is discussing a 2P»
72N PaM>W, so too the Xw 1 must be discussing a 7203 Pamow opn.” So why did
not the X3 say it clearly, instead of saying, 7°2 2°n2 0»nRn 717 02 WKR?!E

3. mooIn writes that it is X720 "X to say that it is a 7212 1°2MD PRY 2P, but it just
happened that he wrote a 72103 for her.!” However we have seen in the X3 that we
have established that we are discussing a case?® where it happened that 7% 203, even
in a place where 12012 PR!

4. According to the Xipon of mooin that we are discussing a 7210 P2aNDW D,
nevertheless what proof is there that 2175 =k X% 7"2vn 0k w057, perhaps the reason
he is not believed to claim *n¥1D in case where 7712102 7Y 1RY VX IR 1S because the
v 1s a proof that he did not pay the 712103, for if he would have paid, the 72 would
have torn up the v3 and written 121 137 X0w?!?

15 See footnote # 2.
16 See ywi "9,
17 See footnote # 12.
13 See X"wAmn.
19 See footnote 13.
20 See 3,1 and here on X,m.
21 See footnote # 14.
22 See nwn nom.
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